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1) R-32/125/143a7|
1) R-32/125/143a/C270 = 28-40wt%/0-40wt%/10-58wt%/0-20wt%
ii) R-32/125/143a/227ea = 28-70wt%/0-50wt%/0-60wt%/0-30wt%
iii) R-32/125/143a/245¢ch = 30-80wt%/0-45wt%/0-50wt%/0-40wt%
iv) R-32/125/143a/600a = 38-50wt%/0-40wt%/10-40wt%/0-10wt%
v) R-32/125/143a/C318 = 30-48wt%/10-40wt%,/20-50wt%/0-20wt%
vi) R-32/125/143a/236ea = 35-70wt%/10-50wt%,/10-40wt%/0-20wt%
vii) R-32/125/143a/600 = 35-60wt%/10-40wt%/10-40wt%/0-10wt%
viii) R-32/125/143a/E134 = 40-88wt%/0-40wt%,/0-30wt%/0-10wt%
ix) R-32/125/143a/E245 = 40-85wt%/0-40wt%/0-38wt%/0-10wt%

2) R-32/125/134a7)
1) R-32/125/134a/C270 = 10-60wt%/10-50wt%/10-50wt%/5-40wt%
ii) R-32/125/134a/152a = 20-70wt%/5-40wt%/5-50wt%/2-40wt%
iii) R-32/125/134a/227ea = 30-70wt%/2-50wt%/2-50wt%/2-40wt%
iv) R-32/125/134a/245¢cb = 30-70wt%/3-30wt%/2-50wt%6/2-30wt%
v) R-32/125/134a/C318 = 30-60wt%/5-40wt%/5-50wt%/2-30wt%
vi) R-32/125/134a/236ea = 40-70wt%/5-40wt%,/7-40wt%/5-20wt%
vii) R-32/125/134a/E134 = 40-80wt%/0-35wt%/0-43wt%/0-10wt%
viil) R-32/125/134a/E245 = 40-80wt%/0-38wt26/0-35wt%/0-10wt%
ix) R-32/125/134a/601 = 35-90wt%/0-45wt%/0-38wt%/0-5wt%
x) R-32/125/134a/601a = 40-80wt%/0-35wt%/0-35wt2%/0-6wt%



3) R-32/143a/134a#|

1) R-32/143a/134a/152a = 10-70wt%/10-60wt%,/10-50wt%/10-40wt%
ii) R-32/143a/134a/227ea = 30-70wt%/10-50wt%/10-50wt%/10-30wt%
iii) R-32/143a/134a/236ea = 40-70wt%/10-40wt2%6/10-40wt%/10wt%
iv) R-32/143a/134a/600 = 40-70wt%/10-40wt%/10-40wt%/10wt%

4) R-32/143a/152a7|

i) R-32/143a/152a/227ea = 20-70wt%/10-50wt%/10-50wt%6/10-30wt%
i) R-32/143a/152a/600a= 20-70wt%/10-50wt%/10-50wt%/10wt%

iii) R-32/143a/152a/236ea = 30-70wt%/10-30wt%6/10-40wt%/10-20wt%
iv) R-32/143a/152a/600 = 30-70wt%/ 10-40wt%/ 10-50wt%/ 10wt%

5) R-32/143a/227ea”

1) R-32/143a/227ea/600a = 40-50wt%,/20-40wt%/10-20wt%/10wt%
i1) R-32/143a/227ea/236ea = 40-70wt%/10-40wt%/10-20wt%/10wt%
ii1) R-32/143a/227ea/600 = 50-70wt%/10-30wt%/10-20wt%,/10wt%

6) R-32/134a/152a7

7)

i) R-32/134a/152a/227ea = 30-50wt%/10-40wt%/10-40wt%/10-30wt%
ii) R-32/134a/152a/236ea = 30-70wt%/10-50wt%/10-30wt%/10-20wt%
iii) R-32/134a/152a/600 = 30-70wt%/10-50wt%/10-50wt%/10wt%

R-32/134a/227ea”
1) R-32/134a/227ea/600a = 50-60wt%,/10-30wt%/10-20wt%/10wt%
ii) R-32/134a/227ea/236ea = 50-70wt%/10-30wt%/10-20wt%/10wt%
iii) R-32/134a/227ea/600 = 50-70wt%/10-30wt%/10-20wt%/10wt%

8) R-32/152a/227ea”|

1) R-32/152a/227ea/600a = 30-70wt%,/10-50wt%/10-20wt%/10wt%
1) R-32/152a/227ea/236ea = 40-70wt%/10-40wt%,/10-20wt%/10wt%
iii) R-32/152a/227ea/600 = 30-70wt%/10-50wt%,/10-20wt%/10wt%



